IR E S [THEESEREE
~ BEAERERE 0 1034E 08 H 01 H (B8 7 ) 11 BF 20 47
~ R BE
~ SEAENNEL | E T~ S TRk K184+4712
- HHTEE - SEASIEEY
~ B S 115 WEHEFUER 9 43 (112 19) a8 > 11 20 fTRE 2 7~
&R K184+712 BB FE RS = FSPACIERAT » 5 B S8R LIH] 2 s (=
HIBEANER AR L ASH RS HREEHOA K ERABT > %
S IR AL 748 > RIS EAERE B ARSI E E1045 SR 20 E 218 > B
IR 40 SR ERE > SR 41 53 (1159 ENE - RS R TR -
N BB
i s A
11:20 | 55 115 ZEHE = 5 EH — i S ERE S EEETE A R A
HERSR - RIS B A EH A K 0 SRS A 0 17
B1ZE e E R BE AL -
11:22 | WYHEENEEES > E£RAEZE  AREHEEREZIE - H
BT 40 iR ERt -
11:23 | TS N BRI R B ARG IR TAF -
11:33 | RGEHELERY -
11:40 | PREPTE SRS RIE RS -
11:50 | BREHEETRERERT -
11 :59 | 5 115 KEEFhETE 41 5502 -
- B EER
(—) NEGTIHR -
(=) HHZEBE
1. ARPgHes E1045 52 &0m = 248 -
2. ERuEH R AR ZIE
(=) EEEEZEREIY 2 116/5 53 ~ 2327/30 43 ~ 2141/20 4% » &F 3 HIZ/55 43 -
J\~ JREGHT ¢ EEEEREAIE N E R AR -
S~ WETHOESET - IR E T R EE -
+ - SEHOERS AR ERCE E - WL
+— - FEHORGEE W2 -

|

=]

t



&= HHEE(K184+712)
[ElZE S (= H)FATE

% 115 % 2 HIELR

PEIEER

i 2

"\
e v



